
 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

באנגליתהצעת פתרון בחינת הבגרות   

 E -שאלון 

  מועד ב', קיץ תשע"ד

016106סמל שאלון   
רשטרס ומיכלאורן בכר הפתרון נכתב על ידי   

 מצוות מורי רשת החינוך אנקורי

 



 

 

 

 

 

 

 

 

can destroy the satellite/ move through space 

at a very high speed, it can cause great 

damage to anything it hits.  

 



 

 

 

 

 

 

 

 

the technology needed 

 global cooperation 

 

Navigation systems will stop working/ /whole 

communication can collapse/ There will be no 

weather forecasts. 
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write longer answers/ have more complex 

ideas/ express themselves better.  

 



 

 

 

 

 

 

 

 

the brain/ our memory.  

 


